## The School Board of Broward County, Florida Procurement & Warehousing Services

ITB No.:	16-059E	nent & Warehousing Service:  Tentative Board M		JANUARY 20, 2016	
Description:	TECHNOLOGY COMPUTING DEVICES	Notified:	_	Downloaded:	68
•		ITB Rec'd:	6	No Bids:	1
For:	VARIOUS LOCATIONS	ITB Opening:	DECEMBER 3, 2	015	
Fund:	(School/Department) VARIOUS FUNDS	Advertised Date:	NOVEMBER 10,	2015	
		Award Amount:	\$82,000,000		
decision or inter- notice of protest tates that "The and days during be at the office person who files to The School B		be filed within ten (10) days after the enstitute a waiver of proceedings under ity the facts and law upon which the ped shall be excluded in the computation g Services, 7720 West Oakland Park I post with the School Board, at the time n amount equal to one percent (1%) of	date the notice of this chapter. Sective rotest is based." Son of the 72-hour ti Boulevard, Suite 3 of filing the formation of the estimated values of the section of the s	f protest is filed. Failure ton 120.57(3)(b), Florida Saturdays, Sundays, state hme period provided. Filin 23, Sunrise, Florida 3333 al written protest, a bond, jue of the contract. Failure	to file a Statutes, nolidays gs shall 51. Any payable to post
VEND	ODIC NAME	ITEM/C\ AWADDED			
	OR'S NAME VO (UNITED STATES) INC.	ITEM(S) AWARDED  GROUPS 1 & 2 - TOTAI DESKTOPS & PERIPHE		WINDOWS LAPTOPS,	
CDI C	OMPUTER DEALERS, INC.	GROUP 3 – WINDOWS	TABLET SYSTE	MS	
LENO	VO (UNITED STATES) INC.	GROUP 4 – CLOUD FO	CUS OR LOW CO	OST WINDOW DEVICE	S
A LATE BID V	D BID BE MADE TO THE LOW BIDDERS M WAS RECEIVED ON DECEMBER 3, 2015 FR ERIOD: JANUARY 21, 2016 THROUGH DE	ROM CDW-G AT 3:31 PM AND WAS			ED.

(Purchasing Agent)

The School Board of Broward County, Florida, prohibits any policy or procedure which results in discrimination on the basis of age, color, disability, gender expression, national origin, majital status, race, religion, sex or sexual orientation. Individuals who wish to file a discrimination complaint, may call the Executive Director, Benefits & EEO Compliance at 754-321-2150 or Teletype Machine (TTY) at 754-321-2158.

Bid No.: 16-059E Bid Title: Technology Computing Devices Bid Opened: December 3, 2015

Purchasing Agent: James Williams

	THE SCHOOL BOARD OF BROWARD COUN	ΓΥ, FLORI	DA						П				
Y	BID TABULATION SHEET					Lenovo (Unite	d States) Inc.	CDW-G					
Item	Description	Quantity	Unit		Bid Unit Price	Bid Price Extension	5% Pref. Unit Price	Pref. Price Extension	П	Bid Unit Price	Bid Price Extension	5% Pref. Unit Price	Pref. Price Extension
Group 1									П	LATE BID	LATE BID	LATE BID	LATE BID
1A	Windows Student - Laptop	20,000	ea	\$		\$ 3,980,000.00			П				
1B	Windows Student - Laptop (Touch)	25,000	ea	\$	229.00	\$ 5,725,000.00			П				
1C	Windows Staff - Laptop	5,000	ea	\$	684.00	\$ 3,420,000.00			П				
1D	Windows Staff - Laptop (Touch)	5,000	ea	\$	824.00	\$ 4,120,000.00			П				
1E	Ultra-Light - Laptop	1,000	ea	\$	900.00	\$ 900,000.00			П				
	TOTAL GROUP 1A-1E			1		\$ 18,145,000.00			П				
Group 2				╢					Н				
2A	Windows Student Desktop	2,000	ea	\$	529.00	\$ 1,058,000.00			П				
2B	Windows Staff Desktop	2,000	ea	\$		\$ 1,198,000.00			H				
2C	Special Purpose Workstation	1,000	ea	\$	1,153.00	\$ 1,153,000.00			Ħ				
2D	Windows All-In-One Touch - Workstation	2,000	ea	\$		\$ 1,458,000.00			Ħ				
	TOTAL GROUP 2A-2D					\$ 4,867,000.00			Ħ				
	TOTAL FOR GROUPS 1-2					\$ 23,012,000.00			П				
Group 3									П				
3A	Windows Basic Tablet	1,000	ea	\$	571.00	\$ 571,000.00			П				
3B	Windows Intermediate Tablet	2,000	ea	\$	841.00	\$ 1,682,000.00			П				
3C	Windows Intermediate Tablet	2,000	ea	\$	891.00	\$ 1,782,000.00			П				
	TOTAL GROUP 3A-3C			1		\$ 4,035,000.00			П				
Group 4				╫					Н				
4A	Cloud-Focused or Low-Cost Windows Devices - Student	2,000	ea	\$	180.00	\$ 360,000.00			П				and the state of t
4B	Cloud-Focused or Low-Cost Windows Devices - Staff	500	ea	\$	230.00	\$ 115,000.00			H				
	TOTAL GROUP 4A-4B					\$ 475,000.00			П				
				╂—					$\mathbb{H}$				
				╫─					Н		<b> </b>	<del> </del>	
		<b>-</b>		╫─			<b> </b>		Н			<del> </del>	
				╫─					Н			<b>+</b>	
		1		╫					Н			<del> </del>	
				╫					H				
				╫─					H		<b>+</b>	<del> </del>	
-				+					Н				
				+					H				
		1		+					Н				
		+		$\dagger$					H				
REMAR	KS:			Щ			L		ш	11	1		

BID DRAFT WAS APPROVED BY:

BIDS RECEIVED WERE EVALUATED BY:

RECOMMEND THE AWARD BE MADE TO THE ABOVE LOW BIDDER(S) MEETING SPECIFICATIONS TERMS AND CONDITIONS.

Bid No.: 16-059E Bid Title: Technology Computing Devices Bid Opened: December 3, 2015

Purchasing Agent: James Williams

	THE SCHOOL BOARD OF BROWARD COUNT	ΓΥ, FLORI	DA									
YU	BID TABULATION SHEET				CDI Computer De	aalere Inc		Comtread, Inc.				
<b> </b>	JID TABOLATION OFFICE	T	T	Bid Unit	Bid Price	5% Pref. Unit	Pref. Price	Bid Unit	Contread	5% Pref.	Pref. Price	
Item	Description	Quantity	Unit	Price	Extension	Price	Extension	Price	Bid Price Extension	Unit Price	Extension	
Group 1												
	Windows Student - Laptop	1	ea	NO BID	NO BID			NO BID	NO BID			
	Windows Student - Laptop (Touch)	1	ea	NO BID	NO BID			NO BID	NO BID			
1C	Windows Staff - Laptop	1	ea	NO BID	NO BID			NO BID	NO BID			
1D	Windows Staff - Laptop (Touch)	1	ea	NO BID	NO BID			NO BID	NO BID			
1E	Ultra-Light - Laptop	1	ea	NO BID	NO BID			NO BID	NO BID			
Group 2								NO BID	NO BID			
2A	Windows Student Desktop	1	ea	NO BID	NO BID			NO BID	NO BID			
2B	Windows Staff Desktop	1	ea	NO BID	NO BID			NO BID	NO BID			
2C	Special Purpose Workstation	1	ea	NO BID	NO BID			NO BID	NO BID			
2D	Windows All-In-One Touch - Workstation	1	ea	NO BID	NO BID			NO BID	NO BID			
Group 3												
3A	Windows Basic Tablet	1,000	ea	\$ 288.00	\$ 288,000.00			\$ 483.00	\$ 483,000.00			
3B	Windows Intermediate Tablet	2,000	ea	\$ 608.00				\$ 540.00				
3C	Windows Intermediate Tablet Windows Intermediate Tablet	2,000	ea		\$ 1,116,000.00			\$ 1,273.00				
30	TOTAL GROUP 3A-3C	2,000	Ca	330.00	\$ 2,620,000.00			¥ 1,273.00	\$ 4,109,000.00			
	TOTAL GROUP SA-30	<b>-</b>			\$ 2,820,000.00			<b> </b>	4,103,000.00			
Group 4												
4A	Cloud-Focused or Low-Cost Windows Devices - Student	2,000	ea	\$ 274.00				NO BID	NO BID			
4B	Cloud-Focused or Low-Cost Windows Devices - Staff	500	ea	\$ 298.00				NO BID	NO BID			
	TOTAL GROUP 4A-4B				\$ 697,000.00							
-		-						-				
								1				
								1				
		<b>_</b>		-				<b></b>				
REMAR	LKC.				L	<u> </u>			<u> </u>	l		
IKEWAK	NO.										,	

1

## REMARKS:

BID DRAFT WAS APPROVED BY:

BIDS RECEIVED WERE EVALUATED BY:

RECOMMEND THE AWARD BE MADE TO THE ABOVE LOW BIDDER(S) MEETING SPECIFICATIONS TERMS AND CONDITIONS.

Bid No.: 16-059E Bid Title: Technology Computing Devices Bid Opened: December 3, 2015

Purchasing Agent: James Williams

BID TABULATION SHEET   Bid Unit   Bid Unit   Price   Extension   Price   Extension   Price   Extension   Bid Frice   Sx Prof. Unit   Price   Extension   Unit Price   Extension   Extension   Extension   Unit Price   Extension   Extension   Unit Price   Extension   Extension   Unit Price   Extension   Extension   Unit Price   Extension   Unit Price   Extension   Extensi		THE SCHOOL BOARD OF BROWARD COUNT	Y, FLORI	DA	T					П						
Item   Description   Quantity   Unit   Price   Extension   Price   Extension   Price   Extension   Unit Price   Extension   Unit Price   Extension   Price   Extension   Unit Price   Extension   Unit Price   Extension   Price   Extension   Unit Price   Extension   Extension   Extension   Extension   Extension   Sage	YUD	BID TABULATION SHEET														
1A	Item	Description	Quantity	Unit						1 11			- ,	Extension		
18																
1	1A	Windows Student - Laptop		ea	\$					\$	329.00	\$ 6,580,000.00				
To   Windows Staff - Laptop (Touch)   5,000   ea   \$ 783.00   \$ 3,915,000.00   \$ 589.00   \$ 2,945,000.00   \$ 678,000.00   \$ 678,000.00   \$ 5678,000.00   \$ 5678,000.00   \$ 5678,000.00   \$ 5678,000.00   \$ 5678,000.00   \$ 5678,000.00   \$ 5678,000.00   \$ 5678,000.00   \$ 5678,000.00   \$ 5678,000.00   \$ 5678,000.00   \$ 522,242,900.00   \$ 522,000.00   \$ 5				ea	\$											
TOTAL GROUP 1A-1E	1C	Windows Staff - Laptop		ea	\$											
TOTAL GROUP 1A-1E	1D	Windows Staff - Laptop (Touch)	5,000	ea	\$											
Group 2	1E		1,000	ea	\$	1,304.00				\$	678.00					
ZA         Windows Student Desktop         2,000         ea         \$ 425.00         \$ 850,000.00         \$ 521.00         \$ 1,042,000.00           2B         Windows Staff Desktop         2,000         ea         \$ 604.00         \$ 1,208,000.00         \$ 592.00         \$ 1,184,000.00           2C         Special Purpose Workstation         1,000         ea         \$ 1,085,000.00         \$ 1,120,000.00         \$ 1,120,000.00           2D         Windows All-In-One Touch - Workstation         2,000         ea         \$ 755.00         \$ 1,510,000.00         \$ 730.00         \$ 1,460,000.00           TOTAL GROUP 2A-2D         \$ 4,663,000.00         \$ 4,663,000.00         \$ 27,477,000.00         \$ 27,048,900.00           Group 3         \$ 3A         Windows Basic Tablet         1,000         ea         \$ 478.00         \$ 478,000.00         \$ 625.00         \$ 625,000.00           3B         Windows Intermediate Tablet         2,000         ea         \$ 689.00         \$ 1,378,000.00         \$ 899.79         \$ 1,799,580.00           TOTAL GROUP 3A-3C         \$ 4,326,160.00         \$ 4,326,160.00         \$ 4,326,160.00         \$ 4,326,160.00         \$ 4,326,160.00           Group 4         \$ 5         \$ 5         \$ 50,000.00         \$ 50,000.00         \$ 50,000.00         \$ 50,000.00		TOTAL GROUP 1A-1E			lacksquare		\$22,824,000.00					\$22,242,900.00				
2B         Windows Staff Desktop         2,000         ea         \$ 604.00         \$ 1,208,000.00         \$ 592.00         \$ 1,184,000.00           2C         Special Purpose Workstation         1,000         ea         \$ 1,085.00         \$ 1,085,000.00         \$ 1,120.00         \$ 1,120,000.00         \$ 1,120,000.00         \$ 1,120,000.00         \$ 1,120,000.00         \$ 1,120,000.00         \$ 1,460,000.00         \$ 1,460,000.00         \$ 1,460,000.00         \$ 1,460,000.00         \$ 1,460,000.00         \$ 1,460,000.00         \$ 1,460,000.00         \$ 1,480,000.00         \$ 27,048,900.00         \$ 27,048,900.00         \$ 27,048,900.00         \$ 27,048,900.00         \$ 3,270,000,00         \$ 3,270,000,00         \$ 3,270,000,00         \$ 3,270,000,00         \$ 3,270,000,00         \$ 3,270,000,00         \$ 3,270,000,00         \$ 3,270,000,00         \$ 3,270,000,00         \$ 3,270,000,00         \$ 3,270,000,00         \$ 3,270,000,00 <td>Group 2</td> <td></td> <td><b>-</b></td> <td></td> <td><math>\dashv</math></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td> <td></td>	Group 2		<b>-</b>		$\dashv$											
2C         Special Purpose Workstation         1,000         ea         \$ 1,085.00         \$ 1,085,000.00         \$ 1,120.00         \$ 1,120,000.00           2D         Windows All-In-One Touch - Workstation         2,000         ea         \$ 755.00         \$ 1,510,000.00         \$ 730.00         \$ 1,460,000.00           TOTAL GROUP 2A-2D         \$ 4,865,000.00           TOTAL FOR GROUPS 1-2         \$ 27,477,000.00         \$ 27,477,000.00         \$ 27,048,900.00           Group 3         A Windows Basic Tablet         1,000         ea         \$ 478.00         \$ 478,000.00         \$ \$27,048,900.00           3B         Windows Intermediate Tablet         2,000         ea         \$ 689.00         \$ 1,378,000.00         \$ 899.79         \$ 1,799,580.00           3C         Windows Intermediate Tablet         2,000         ea         \$ 1,399.00         \$ 2,798,000.00         \$ 950.79         \$ 1,901,580.00           TOTAL GROUP 3A-3C         \$ 4,864,000.00         \$ 4,326,160.00           \$ 4         \$ 5         \$ 4,326,160.00         \$ 251.00         \$ 502,000.00         \$ 251.00         \$ 502,000.00<	2A	Windows Student Desktop	2,000	ea	\$	425.00	\$ 850,000.00			\$	521.00	\$ 1,042,000.00				
2C         Special Purpose Workstation         1,000         ea         \$ 1,085.00         \$ 1,085,000.00         \$ 1,120.00         \$ 1,120,000.00           2D         Windows All-In-One Touch - Workstation         2,000         ea         \$ 755.00         \$ 1,510,000.00         \$ 730.00         \$ 1,460,000.00           TOTAL GROUP 2A-2D         \$ 4,865,000.00           TOTAL FOR GROUPS 1-2         \$ 27,477,000.00         \$ 27,477,000.00         \$ 27,048,900.00           Group 3         A Windows Basic Tablet         1,000         ea         \$ 478.00         \$ 478,000.00         \$ \$27,048,900.00           3B         Windows Intermediate Tablet         2,000         ea         \$ 689.00         \$ 1,378,000.00         \$ 899.79         \$ 1,799,580.00           3C         Windows Intermediate Tablet         2,000         ea         \$ 1,399.00         \$ 2,798,000.00         \$ 950.79         \$ 1,901,580.00           TOTAL GROUP 3A-3C         \$ 4,864,000.00         \$ 4,326,160.00           \$ 4         \$ 5         \$ 4,326,160.00         \$ 251.00         \$ 502,000.00         \$ 251.00         \$ 502,000.00<	2B	Windows Staff Desktop	2.000	ea	\$	604.00	\$ 1,208,000.00			\$	592.00	\$ 1,184,000.00				
2D   Windows All-In-One Touch - Workstation   2,000   ea   \$ 755.00   \$ 1,510,000.00     \$ 730.00   \$ 1,460,000.00			1,000		\$											
TOTAL FOR GROUPS 1-2   \$27,477,000.00   \$27,048,900.00			2,000	ea	\$	755.00	\$ 1,510,000.00									
TOTAL FOR GROUPS 1-2   \$27,477,000.00   \$27,048,900.00		TOTAL GROUP 2A-2D					\$ 4,653,000.00					\$ 4,806,000.00				
3A         Windows Basic Tablet         1,000         ea         \$ 478.00         \$ 478,000.00         \$ 625,000.00         \$ 625,000.00         \$ 625,000.00         \$ 899.79         \$ 1,799,580.00         \$ 899.79         \$ 1,799,580.00         \$ 899.79         \$ 1,901,580.00         \$ 950.79         \$ 1,901,580.00         \$ 4,326,160.00         \$ 4,326,		TOTAL FOR GROUPS 1-2														
3A         Windows Basic Tablet         1,000         ea         \$ 478.00         \$ 478,000.00         \$ 625,000.00         \$ 625,000.00         \$ 899.79         \$ 1,799,580.00         \$ 899.79         \$ 1,799,580.00         \$ 899.79         \$ 1,799,580.00         \$ 899.79         \$ 1,901,580.00         \$ 1,399.00         \$ 2,798,000.00         \$ 4,654,000.00         \$ 950.79         \$ 1,901,580.00         \$ 4,326,160.00         \$ 4,326,160.00         \$ 4,326,160.00         \$ 4,326,160.00         \$ 4,326,160.00         \$ 4,326,160.00         \$ 4,326,160.00         \$ 4,326,160.00         \$ 1,000,000         \$ 1,000,					_					Ц						
3B         Windows Intermediate Tablet         2,000         ea         \$ 689.00         \$ 1,378,000.00         \$ 899.79         \$ 1,799,580.00           3C         Windows Intermediate Tablet         2,000         ea         \$ 1,399.00         \$ 2,798,000.00         \$ 950.79         \$ 1,901,580.00           TOTAL GROUP 3A-3C         \$ 4,654,000.00         \$ 4,326,160.00           Group 4         \$ -	Group 3									Ш						
3C       Windows Intermediate Tablet       2,000       ea       \$ 1,399.00       \$ 2,798,000.00       \$ 950.79       \$ 1,901,580.00       \$ 4,326,160.00       \$ 4,326,160.00       \$ 4,326,160.00       \$ 4,326,160.00       \$ 4,326,160.00       \$ 1,901,580.00       \$ 1,9	3A	Windows Basic Tablet		ea	\$											
TOTAL GROUP 3A-3C \$ 4,654,000.00 \$ 4,326,160.00 \$ Group 4 \$ 500 Gloud-Focused or Low-Cost Windows Devices - Student 4B Cloud-Focused or Low-Cost Windows Devices - Staff 500 ea \$ 327.00 \$ 163,500.00 \$ NO BID NO BID	3B	Windows Intermediate Tablet	2,000	ea	\$					\$						
S	3C		2,000	ea	\$	1,399.00	\$ 2,798,000.00			\$	950.79					
Group 4 \$ \$ - \$ \$ - \$ \$ 500 \$ \$ 502,000.00 \$ \$ 4B Cloud-Focused or Low-Cost Windows Devices - Staff 500 ea \$ 327.00 \$ 163,500.00 \$ NO BID NO BID		TOTAL GROUP 3A-3C										\$ 4,326,160.00				
4A         Cloud-Focused or Low-Cost Windows Devices - Student         2,000         ea         \$ 270.00         \$ 540,000.00         \$ 251.00         \$ 502,000.00           4B         Cloud-Focused or Low-Cost Windows Devices - Staff         500         ea         \$ 327.00         \$ 163,500.00         NO BID         NO BID			ļ		4_		T			Ц						
4B Cloud-Focused or Low-Cost Windows Devices - Staff 500 ea \$\\$327.00 \\$163,500.00 \ NO BID NO BID					4		T			Ц						
TOTAL GROUP 4A-4B \$ 703,500.00 \$ 502,000.00 \$	4B		500	ea	\$	327.00				NO	BID			than a gay nay thin thin agin a track a say, mail y nay ag bhin i chean his action a con agus agus bhin i thin		
		TOTAL GROUP 4A-4B	<b>-</b>	ļ	╂	·····	\$ 703,500.00					\$ 502,000.00				
	ļ		+	<del>  </del>	╫					₩						
					-											
					₩											
					Н—					₩						
					Н—					₩			<b> </b>			
			+		Н—					Н			-			
					Н—					₩			<b> </b>			
			+		Н—					₩						
			+	-	Н—					₩			-			
				ļ	Н—					₩						
REMARKS:	DEM. 5				Ш		L	L								

## REMARKS:

BID DRAFT WAS APPROVED BY:

BIDS RECEIVED WERE EVALUATED BY:

RECOMMEND THE AWARD BE MADE TO THE ABOVE LOW BIDDER(S) MEETING SPECIFICATIONS TERMS AND CONDITIONS.